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CBRAITE NO.2
A4 FETERRLT HERE: SM4E1H318
HEeELZ: HE =t

1.HRER

BEAE =T DR EARE ES

(mm) yid a 13 (kg/cni)
0.5 40 50 450 38.05
1.0 9.0 9.0 9.00 76.11
1.5 13.0 13.0 13.00 109.94
20 170 | 17.0 | 17.00 143.76
2.5 21.0 21.0 | 21.00 177.59
3.0 26.0 26.0 | 26.00 219.88
5.0 39.0 39.0 | 39.00 329.82
1.5 51.0 51.0 | 51.00 431.30
10.0 64.0 64.0 | 64.00 541.24
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CBR=2.5mm(E A5&E) +-1370 X 100(%)= 12.96 CBR=5.0mm(E A% E) +2030 x 100(%)= 16.24
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40.0 555.0 555.0 0 0 100.00
37.5 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 744.8 574.4 170.4 6.22 93.78
9.5 828.2 543.8 284.4 10.38 83.39
6.7 894.9 479.5 4154 15.17 68.22
4.75 1096.2 529.4 566.8 20.70 47.53
2.36 1358.5 491.2 867.3 31.67 15.86
1.180 807.3 465.4 341.9 12.48 3.37
0.425 438.9 351.7 87.2 3.18 0.19
0.075 315.9 310.7 5.2 0.19 0
0.0 348.2 348.2 0.0 0 0
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